6. 108, 104, 100, 96, 92, 7
(a) B (b) 34

(c) 90 (d) 86
S.8C, 3iFaEa CHSL (T-1)11 5% 2018 (II-98&)

9. 9,28, 86, 261,787, 7
(a) 2366 (b) 1795
{e) 2175 (d) 2285

8.5.C. #9189 CHSL (T-1) 14 914, 2018 (1-9d1)

24, 35,50,63, 82,7,122
{a) 101 (h) %
(c) 100 (d) 5 & 98 T8
S5.C. divaEa w2 (e A wE S04 B, 2007 (-ady

39. -0.5,-0.35,-02, -0.05, 7,0.25
(a) -0.1 (b) 01

{c) 015 (dy -0.15
55.C. NvamA wes won T (FI) 22 R, 2017 (1 adh

47. 1,0.125, 1/27,1/64, 7, 1/216
(a) 0025 (b) 18

{c) 11128 (d) D008
8.5C. JiTers wIaw wWIR Vel (1-1) 17 aFre, 2017 (1-98

58. 5, 10,13, 26,29,58,61, 7
(a) 122 by 125
(c) 128 (dy &4
S.8C. FarA Fwe wee (1) 7 fadee, 2006 (10-wdh)

@- ©0o|%S°

() (0 () (d)

#16. RIeql & 3MMUY & Tde] b A gU To!
3RW B 949 DI -18 T8 I FH Y & g
TGl gl ¥ Amifchd Safdd, Adar &R 9o

| -Understanding the interrelation of the

#2. Ofc; BEAT =25-22-26-7 3R RUST = 9-6-8-7
foRad §, d9 BURST &1 ®IS 9T g ?

P 2522987
P >5-9-6-8-7
» 25-6-9-83-7

» o-87-6-25




64 | 125
27 ?

8 |343

#8. Missing number
27 125 225 216

10 Complete :
T HL
BBg8|9BBB | Bggg|ag ?
g8 889 BB B4
(1) 2 () @

1 215 39S A5 o0 WR A 31 gU 9 & Hicx &
Uis T, ﬁ@ﬁ%ﬁﬁﬁiﬂﬁ@ﬂ?%tﬁﬁﬁ
<9dr g, dl, Yed JHfR fpgfeandg|

12

OO
& @D |5
(a) (=) (<) (e)]
#18. Qeal b ATUY & I bl YA gU gl
3G BT =G HITSIT | I, SR, B
Understanding the relation of, select the correct
diagram. State, Country, City

13 ==

(1) (2) (3) (4)
#19. Mirror Image
14

#23. 9d &1 I3 I - Count the number of
Circle

17 19 21 23




15

#25. {GU U Wea| @l 39 HH ¥ aleyd &3 forgH
I BB

I. Forehead

ii. Forensic

ii. Forest

iv. Foremost

16

foifor - . < fa T e A WER
ST T, Nt ToTera STaT SRl 3Tad HTHeRTST T
AT FAOS el FAT Sl gied & 21 foF & e
W A Tl T v & 3 2

10ﬁ—‘
2

9 71 3

AT SAAr

#26. U} 26} ST fdhdHt © S 91dTed 3R
EALCASIE

? How much of an urban public is it
that is Clever and Working?

17

#23. 9 &I BT 1 - Count the number of
Circle

17 19 21 23

18

#30. A, BCDEHW:@HT%M
|¢§ﬁq@rcw C Y] @l ¢ | D, B Y UlSI BICT
aﬁﬁ%m@@ﬁﬁaﬁﬁwﬂél

B C D E

19

#5. 3ol 9uiArdar # 9190 I gi9d dUT SHiEd 3aR

& HeH HIAAT HER Il g2

J KL M
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#11.30d D1 TS! DI b H, &1 ISl bl 7R
I ToTT &R T4 1| U gof § g1 Yidg A |

DY dg Fdad! g, vl |

I gl

3aRE fie 7 9183 201dl 81 &l Hiud alueX
12.00 9 U 1Y d1eX bt df | 9 S e g

TP U1y B qIgR Hbaril ?
W 206 PM
P 208 PMm
P 224pPMm
P 232pPMm

21

M

=

N

Answer Figures :

Q)] (] (3) (4

#16. Mirror Image

)

22

#17.
QU U ¥l &l Y HIHd gU, a4l
&ﬁiﬁﬂﬁrﬁaﬁ%ﬁqﬂﬂ%

e ol g
R AR

3T U 21 BT dlidhd ®U Y S8Rl 6l g |

aﬂl;l‘. . %
Ted ST B
%WW%I

2 ) ST
q SN
Egﬂiﬂsﬁuﬁrﬂ%ﬁg
3) oY Hed AUS ¢
E4;§§nsa@u€rﬂﬁ%|

W 3 Faa (1) Frd srgeRm IRl g
W 3 Faa (2) Frey orgeRor w3
W ol ard (3) a1 (4) TRV AT 2
W R (3) R (4) SFTRU T T
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#18. Ufd MONKO Eﬁg o 57637 forad g
T3 HIET H KLIMN

P 3245
W 34256
» 35156
P 32546

24

#13. 3R ROSE &I TQUG & ¥ ¥ ferar o g,
T 3G PIs T BISCUIT DI B foRal ST TebaTl 82

» atoviu
B DKVEWKY
B DKUEWKY

B DKUEWKY

25

#18. U [A13d He UINT H CLOCK DI KCOLC &
=Y ¥ feRdT T & | ST RAMESH 1 38T e HINT
# ferRaT ST dl U Wsg & Ugel 1R 3ifdH 31&R
DU R |

» rRA
P HR
» ms
» AM

26

#21.0.01:0.0001::0.05:7
B 0.00025
» o0.0025

» o025
» o025

27

#22. U Yol H 8 TU1 9:00 & &9 fhd JHT US|
&1 et fquia fe=m o gt 2

W soosFH 10 1/11 e
W socoFIH110/11 e
W 500 s H 10 10711 e

W sooseHI 11 11/10 fime
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#25. 9T T STCT Uot W |
2B, 4C, 8E, 14 H,?

P 16K

» 20!

» 0L

» 2L

29

1.0 99 & ©: BaD § (o8 d YIS Bad & (9-10F 31 g: BIal, A, 43,
B, O1d 3R A% |

2. 9Id Bdd, DId Bad & [Gusid el B ¢l
3. I A, Td 3R DI Bad & 79 [T 81

4. el Ba®, e Bad B AT Bad ol

5. W31 e, A B BT S BAd g

6. T A gl Pad gl

BIH-I1 IR FH Bad & bad &1 e B 57
O wrem, =ta, 131, are

O wrem, e, 431, ibe

O rem, Hren, @, Wb

O e, W31, Are, "G

30

&= (Qs. 5 - 9): FRaferiEd v < g sngpfd ur anefd § S o € urd 3t faf
fufaat o guiar g1
2 1 5

3 4 2
1 6 6

@ (i1) (iii)
1 (i) & et Bae ® $H-8 Temg?

31

821 (Qs. 13-14): T €1 U &t diF Ryl @ -2 gofar mn 81 wyar=e g 2
P ON1T8 PI-T T it

4 5 1

2 1 6

(1) (ii) (iii)
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FafaRad Pid &1 HIg®R Us U & =9 H &1 Sldl § a1 d1d [ag3fl aTdl B
& fqudid wae R fod fag g

L]

L
..l

33

% lose|® @@

Q.5 wmwmfrawm#%swmmmﬁ,msmmm#MHm
9T g

6

34

#am, ffaar & s & e, Rfear fr aga §1 g & Rar & 3@ ) B, siie

# ¥ & sofa, wfEe & A7 1 gFy, BET & st wma & ofy #) s # e & =

TS

AL
qrar
LE
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43. Statements

No Teacher comes to the school on

a bicycle.

Anand Comes to the school on a

bicycle.

Conclusions

I. Anand is not a teacher.

Il. Anand is a student.

(a) Conclusion lalone can be drawn

(b) Conclusion Il alone can be
drawn

(c) Both Conclusion can be drawn

(d) Both Conclusion cannot be

drawn
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45. Which answer figure will complete |
the pattern in the question figure 7 |
Question Figure

B

Answer ngnm

=

@ ® © @

37

28. Savitha introduced a boy as the son
of the only daughter of the father
of her maternal uncle.

(a) Brother (b) Son
(c) Nephew  (d) Son-in-law

38

44, Statements
. Al children are students.
All students are players.

Conclusions

1. All cricketers are students.

II. All children are players.

(a) Only conclusion | follows

(b) Only conclusions 1! follows

(¢) Both conclusions I and Il follow

(d) Neither conclusion | nor [l
. follows

39

50. Whichone ot'the following Jiagrams
best depicts the relationship among
people, woinen and mothers?

() @ (b)

©) Q3D (d) None of these
gvanSHil A

40

Directions (Q. 19-21) : /n each of the
following question, which of the
following word will appear. last in the
dictionary ? -
19. (a) prosecute (b) prompt
(c) prostrate  (d) prize
20. (a) revolve  (b) rheumatism
(c) reward  (d) rhapsody
21. (a) heavy (b) health
(c) heathen - '(d) heart strings
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28. A husband and a wife had five
married sons and each of them had
four children, How many members
are there in the family ?

(a) 36 (b) 30
(c) 40 (d) 32 ‘

42

Q.5 PI3 93! GO =7 ¥, JIHAR ®i 12 g1 2 Fc 9o &R
3T 39 2 p.m. W 4 fiFe 48 Y& amt €1 St g1 f5w wHg
Tg uS! Tet 99g fe w8t i

ommaﬁza@r@mﬁ
ogmzaﬁﬁqﬁ?
O?ﬁaﬂsa@ra‘m—eﬁ

o IHaR 1 ¥l Gl

43

-7 XTiHl, zFMarwlamg 1z ywTUE s Tafd x, ma fiarg 1 x, z@fda
TOR TEfRa g ?

A
ElEl
EanE]
alal
e

44

0-13 Blaw el furg wsfbai v dfda Hadig IPEMP T AR IR0 P are
AT IR NDGE 3N, Wg o T arg AR 431 ¢ | T Di--dt asDi dol g ?

o
R
p
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2. Question

Q’'s mother is the sister of R and daughter of S and N is the daughter of R and sister of M. How
is ‘"M’ related to S?

O Data inadequate
O Son's Son

O Son

O Daughter’s son

O Brother

46

Pointing to a gentleman, Deepak said, “His only brother is the father of my daughter’s father”.

How is that gentleman related to Deepak?

O Brother-in-law
O Uncle

O Father

O Grandfather

O None of these

47

Poonam said to her friend, "Yesterday | attended the birthday party of the son of the only son-
in-law of my mother’s mother”. How is Poonam related to the man, whose birthday party she
attended?

O Sister

O Daughter

O None of these
O Niece

O Mother
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1. Question

Fact 1: Mary said, “Ann and | both have cats.”

Fact 2: Ann said, “l don’t have a cat.”

Fact 3: Mary always tells the truth, but Ann sometimes lies.

If the first three statements are facts, which of the following statements must also be a fact?
I. Ann has a cat.

Il. Mary has a cat.

Ill. Ann is lying.

Oland Il only
Ol only
O, 11, and 1l

O None of the statements is a known fact.

49

3. Question

Tanya is older than Eric.
Cliff is older than Tanya.
Eric is older than CIiff.

If the first two statements are true, the third statement is

O false
O uncertain

O true

50

Spot is bigger than King and smaller than Sugar.
Ralph is smaller than Sugar and bigger than Spot.
King is bigger than Ralph.

If the first two statements are true, the third statement is

O false
O uncertain

O true
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61. &a= - wfl 27 79 &
T 0 T A E |
aift ar F )
fremd - 1. =i 7@ 23 = &)
. = =9 78 44§
L F¢ 23 Fo 58 &)
(A) F off s T Fa d
(B) FA@ 1 3 11 33801 & &1

(C) Faa I 3 11 TR0 F4 )
(D) FA@ 1l R 1 ST 3 )

(E) 57 | %1 74

52

¥ien a # @ & W, @ w2
T FT g wen €1 5w | o
#m w1 W Wi 21 vien, wie 9 %4
Tt 77

(a) Mother-in-law /9M™

(b) Daughter-in-law /{39y

c) Granddaughter/ 9

{d) Daughter/q#

53

IA/ Given below are the different positions of

a dice

| @

a8

What shall come in the place of 'X'?

(a) 3 (b)5
(c) 2 (@)1

[SSC (FCh 2012)

54

2. A cube which is painted red on the outer
surface is of 2 inches height, 2 inches
wide and 2 inches across. If it is cut into
one inch cubes as shown by dotted lines,
then indicate the number of cubes which

are red on two sides?

4

PR - G

(a) 8 )0 (c) 4

(d) 6




55 1. Problem Figure
®
° °
)
?
e o
Answer Figures
L] e o |® el ® o
s ) o o
° L Y ol o 9
(a) (b) ¢ (d)
56 | 5. i prmcals wonefa ST g 9 |
T MR-
ST AT~
() (b) (c) (d)
57
B>
31. T,
(x)
-+ > IS
= = S =
(a) (h) (c) (d)
58
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Q. Based on the figure in the question find a suitable figure from the five figures in

the option.

% 2| [eez]og RS>0

Al B.2

C.3 D. 4

60

() 5: Restaurant: Menu

(a) Library: Catalogue (b) Artist: Imitative (c) Book : Encyclopaedia (d) Guest: Rude




